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@ V3(2V5+ V3)=2V15+3

© (V24-V12)+ V3= 1+2-1

© 4v2-V2(3-6V2) =10vV2- V6

® V2(2V3+4) - V3(V2- V6) = V6 +7V2
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O (V24- V12)+ V3=2v2-2
©®4V2- V2(3-6v2) = V2 +12
@ V2(2V3+4) - V3(V2 - V6)
=2V6+4v2- V6 +3V2
= V6+72
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@w/l_—5<«/1_—x/% @ V50+7>14

® -V5-3>-V6-3

® (VIT-5) - (VII - V26) = -5+ V26 = - VZ5+ V26 > 0
S VIT=5> V11— V26
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D V80 =4+5 @ V32=4+2
® V20 =25 (@)m:wm

® /1000 = 10V10

@ 500 = 10V5
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© V5- V7-3V5+2V7=-2V5+ V7
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® 4V2-V3+4V3-3V2= V2433
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o 3 V2 o VT Atelofl gl FeEjgrt obd 2127 (T V2 = 1414
, V7 =2.646 )

V2 + V7

O V2+1 @ 5 ® 5

@) vi-v2 ® 72

@ V7 - V2 =2.646-1.414 = 1.232
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@ a>0 L, \/(-3)2a2 x Via? = 6a>
© a<0 ¥ ™, V2542 - \/(-6a)? = -a
© a<0, b>0 <Y M, V10042 - 5V4b2 = 10(a - b)

® a>0,b<0¥ 0,
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V2542 - V/(=6a)? = —5a — (—6a) = a
©®a<0, b>0< o,

V10042 - 5 V4b2 = —10a — 5 x 2b = —10(a + b)
@a>0,b<0Y

V@a)? - /(=b)% - /(6b)2 = 4a + Tb
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a=2V3-1,b=3V2-1,c=9-3V3
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a=2V3-1=+V12-1
b=3V2-1=+VI8-1
c=9-3V3=9-127
c-b=9-3vV3-3v2+1
=10-3(V3+V2)>0 .. c>b
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2(3V10- v2) - V2(8 V5 -1) =aV2+ b V10 & ™, a + b O] FH-2?
&, a, b= 5ol

® -11 @ -5 ® 10 @17 ® 23

12(3V10 - v2) - V2(8V5-1)
=36V10-12V2-8VI0+ V2 = -11 V2 + 28 V10
L a=-11,b=28>a+b=-11+28=17
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olgsto] a - b 9| 2& Fafolat.

a=7563, Vb=7436 <4 1, I} AZIHE

= 0 1 2 3

99 7.416 | 7.423 | 7.430 | 7.436
o6 7,483 | 7,490 | 7,497 | 7.503
o7 7.550 | 7.556 | 7.563 | 7.570
58 7.616 | 7.622 | 7.629 | 7.635

a=>572,b=2553
S.oa—-b=572-553=19
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et o, 242 x b2 -b+c 9

2 4
a:T‘/_:§:2,b:— (=6)° = =6, c = /(-2)* =2

1
.'.2a2xb2—b+c=2x4x36—(—6)x5
=288+ 3 =291
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L. x—y & 4 Feolth
. xxy £ @4 Ralsolt
2. xsy @y Ralsolt
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V126abc = V2 x 32 x 7 x abc

abc = 14 T+ abc = 56 == abc = 126
abc = 224 = abc = 504

abc =14 4 o, (1,2,7)

abc =56 4 o, (1, 7, 8), (2, 4, 7)
abc =126 4 W, (2, 7, 9), (3, 6, 7)
abc =224 4 o, (4, 7, 8)

abc =504 & o, (7, 8, 9)




